1

(4s 4
(CHEXT )

2 P FE BT

TN 2 AEJE

EL PN St T

N

& (RATHIELER)

201 &7 B R TR B SR 2

3 AN fL H K S 24 28 17H 108 304
%1 0E 5% 2 7]
. ESZ (W NFLAT A filif . (C) FFAM i NFLAT A filif s (C) FFAM i " ]
*® F A Y] (BAZ:M) B) |30x {1-B)/FT& M+ (BA7:H) B) 30X {1-B)/T&E M+ " i
filiA% ) filiA% )
B i~ Ay MNUE 45. 0 13, 900, 000 0.6131 45. 6131 PR E
HARIREL (BR) 36.0 14, 100, 000 0. 1902 36. 1902

AL ANENRE G o - HEEFHO 1 10501 0 0ICHY T8 TH D,

BB HERI Y 2 &)
FEAMRS CHEBL S & B <)
FRATFEEM RS HE B 2 BR<)

15,
14,
11,

290, 000 H
190, 000 H
280, 000 H




B a R % AL ST 2B RFE A 2

¥ % 4 ORM2EE HEIK LRE AT EREEN R ES A& AT Dl AL 30 [AL
OB F B I EHIIY ARSI AT AR O A 60 |41
A KL B :AmM24E2H17H e 1:2
FEATREAMG A DO PNER 53 1#
it B
. IS 53
TEHMNE Bl s A pre
7 i i M
& T D i
e - * 0 e ¥
e oA " - i % ®
o ﬁ T [ x P
£
)3 1 ®
e
ES
20 20 30 30 60 — 80 60. 0
1| (k) #ER~xP A2 NUE 20 20 30 10 40 1 60 45.0 AL
2 | AARIREL (BF) 18 18 30 0 30 1 48 36.0
3
4
5
6
7
8
9
10
11
12

XAfi% R =30 x (1— AfL{f#&.~ P E M)
(MRS EYIYIET)




